1F 1/6(%) 712 1/7(=h) 1/8(=F) 1/9(%) 1/10(=&)
LC OT + Unitl Unit 2 Unit 2 + Unit 3
Actual Test @ 1X 2o EQl/slid
RC OT + Unitl Unit 2-3 Unit4 (S8 AP Unit 5 (BLA)
(ZETX) (B AL/CHE A}
2F 1/13(&) 1/14(3h 1/15(=) 1/16(F) 1/17(&)
LC Unit 4 Unit 5 Unit 6 Unit 7 Unit 8
RC Unit 6 (S A}, Unit7 (=LX]) Unit 8 (A[A]) Unit 9 (E}) Unit 10
HEfRL B R) (To BE& A}
3F 1/20(&) 1/21(3h 1/22(=F) 1/23(F) 1/24(&)
LC Actual Test @ Unit 9 Unit 10
449 34
RC Unit 10 Unit 11 (EAD Unit 12
(S8ZAh (HX|A/EEAD
4F 1/27(8) 1/28(=2}) 1/29(=) 1/30(F) 1/31(8)
LC Unit 11-12 Actual Test ®
44 52 2K 2o EQ/sHA
RC Unit 13 Unit 14
(ZHA CHE AL (HAE E5AD
5F 2/3(&) 2/4 (=h 2/5(=) 2/6(%) 52
LC Unit 13 Unit 14-15 Unit 16 /&5X 2| Actual Test @
RC Unit 15 Unit 16-17 Unit18-19-20 Unit 21 SX| 2/
(BAHE ©&5AD Ho2/ o2 = NES 58
FE Lo = HAO| AS = ASLHICH)




